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4. BR ¥E GEg XK= )y X2 1 1:11.23 4. B EX (JFEFE ) 1 53.57
5 Wl =3 (L= ) =3 3 1:12.69 5. #a@ &@xE (KGNST ) 2 54.17
6. NE HEX (BmF¥SS ) =2 2 1:11.51 6. & e (FREX ) K3 5 55.93
7. WF #t (HOS OGURA ) =3 7 1:14.83 1. B K% (A=F#gXxE ) K3 7 56.10
8. EH R (GIfEEXRE ) X2 8 1:14.9 8. BTAE %k (A k<wom& ) &3 8 56. 66
No. 26 BF 100m FEk&E R No. 31 &¥ 400m HHEF RS
EPN::£53 [EPN::£53
EE i3] EIE i
1. il —#8 (PRX ) K2 6 1:05.74 1. BX et (EHnKBEE ) =1 4 4:27.82
2. =% £ GIfpfERE ) X1 4 1:04.90 2. BA #E (&M KES ) =3 8 4:32.06
3. HFB HiE (BEAFmEPREAE ) X2 2  1:03.91 3. lBE EZE (R#MEskE ) B3 3 4:27.64
4. #F S (JFERE ) 1 1:01.95 K&#H 4. BE DB GIEfERS Yy K1 1  4:16.67
5. 2l @A (AAXRX ) K3 Kig 5. &2 WA (E#BAKkE ) $3 2 4:21.12
6. ZTF WX t-tEWTE ) 3 1:04.61 6. BE IDE (A b=wom# ) ®3 5 4:28.03
1. T #X (IBIS ) 5 1:04.91 1. % ¥m (KIRABXRZ ) XK1 7 4:31.44
8. B+ (BB (UHhZHEBEK ) X3 7 1:06.55 8. B =Fx (E#Hs RS ) =1 6 4:30.80
No. 27 ¥ 100m &Ek=T R No. 32 BF 400m BEHE R
B AR [EPS::£57
=8 ETh] &IE Bl
1. 8K R: (a+F=/\E ) B2 8§ 1:09.34 1. 5B A (AFtKE ) X4 6 4:05.66
2. Blg TR (GIffEXR® ) X4 3 1:06.82 2. B {Z (BRIFEEFEKRK ) K4 8  4:06.51
3. FIEEARTF (E#EEEKkE ) H3 2 1:05.78 3. KiE 3t (N AES ) 32 3 4:00.16
4. AR HE (RE#XE ) X4 1 1:05.05 4. BRX T €:EIJlIPN ) K3 1 3:58.04
5. 3 n# (4 bVmEE ) B2 4 1:07.10 5. WA KER GCEEER ) =2 5 4:03.23
6. FH Wi (KScH#+~ ) Hh3 5 1:07.27 6. BEH B (FREX ) K2 4 4:01.01
1. B 0 (FEX&%E ) =3 6 1:07.31 1. rEH HE GEEER ) B2 2 3:59.95
8. #t m®mF (HoRFKR—Y ) &H3 T 1:.08.93 8. #HE RN (GaFip N2 ) K4 T 4:06.27
No. 28 BF 100m &k R No. 33 Z&¥ 400m {EAAKL— FE
EPN::£53 [EPN::£53
& B =T 148 b= 2] B
1. B8 RH (BmK= ) K3 7 59.73 0. ( )
2. TR R (BEX% ) X4 6 59. 47 1. ( )
3. EE KE (WEEmX ) X1 4 58.90 2. WOEEBE GIfefEE® ) =2 2 5:31.56
4. N ERE GREZKRZ N 55.04 X% 3. kKN EF (EH;XHE ) 32 5 5:34.79
5. &% RNt (B K= ) K3 2 57.78 4. BIifpRE @ v4vhyy ) ®3 4 5:32.54
6. #L R A <o ) B2 3 58.57 5. AT #an (fBELEES ) 33 3 5:32.00
1. &% B (ARG ) =2 5 59. 32 6. EF EF (F#pxxsE ) =1 1 5:29.61
8. KEEM (REEK ) =3 8 1:00.06 1. #IL kRE (RE;XH T ) ®1 6 5:36.45
8. ( )
9. ( )




No. 33 &F 400m f@EAAKL— FiE
EPN:5£53
248 &|E B Al
0. dft =& (R#p5YKEm ) =2 8 5:26.03
1. AKX 88 (R#pSARKFEE ) B2 4 5:14.39
2. WF NE (a+rs=KR ) B2 6 5:16.82
3. BA FE (R#pSARKFEE ) =3 3 5:11.54
4. &FE EE (WK ) K1 1 4:53.81
5. FIlBE AT (R#EKE ) ®H3 2 5:06.45
6. BK K (R#pxX%=E ) Bl 5 5:16.10
7. BIEEDH# (A F=UmEB ) ®H2 10 5:43.17
8. B BTy (FEmFEE®R ) =1 7 5:19.63
9. THHEME (M ER )y Bl 9 5:27.72
No. 34 BEF 400m BEAARL— &
EPN:£53
148 &8 B
0. ( )
1. ( )
2. ( )
3. FEE WS (= s s )y &3 2 5:21.19
4. B ik (ks S S ) &3 EiE
5. &Kk X (A b<womE&B ) ®H3 1 5:09.75
6. KH FE (HOS OGURA ) 1 3 5:33.06
7. ( )
8. ( )
9. ( )
248 &|E B Al
0. B0 EKE (A b<womE& ) &1 6 5:01.37
1. 83F &K (R#EKE ) &1 4 4:57.96
2. Ly BEA (EES - s ) 7 5:02.17
3. HiE W (a+=3/)UWE ) ®2 3 4:57.95
4. Jenl o ED (BEEk ) =3 1 4:55.73
5. % I8E (A F<wVm#EB ) ®H2 10 5:08.69
6. o BH (KBRKZ ) X2 2 4:56.36
1. 8E EB (fBMMLUAK=ESE ) B2 5  4:58.87
8. MW+ |4 (F#xX%=E ) =3 8  5:06.11
9. AR X (REpmEE® ) =1 9 5:06.31
34 &EE 35|
0. &H# Bt (L E® )y &1 7  4:52.61
1. JIE BEA (HOS OGURA ) B2 5 4:48.62
2. @HE RE (IHfEEER ) B3 8  4:54.43
3. KA M3 (R#pSYKAEm ) =2 1 4:39.73
4. 1R HE (BEER ) B2 2 4:41.14
5. k3l EE (KBRIABEKRE ) K1 3 4:46.08
6. ZH i) (R#RSLAFEE ) B3 4 4:46.89
1. EH i (R#pm¥E ) =3 6 4:51.59
8. BTE ¥AHt (A b=vm#EB ) &1 10 5:07.59
9. FE EZ (fBEWKxEE ) =3 9 4:55.00
No. 35 &F 200m HEHEE TiE
EPN5£53
148 &|E B Al
0. ( )
1. RO 2% (csT ) B 3 2:39.34
2. Lt #&EF (A b<omE ) /M6 8  2:51.20
3. XEF HiE (REEEKRE ) K2 6 2:46.46
4. 82 AH¥ (A b<omEE ) 1 5 2:43.22
5. #H BE (=EpSs s ) /M6 7  2:50.18
6. f1E I (EDFSS y &1 1 2:33.91
7. B HE%k A vHvhy ) /M6 2 2:38.18
8. Bk 55 (Ems - s ) 1 4 2:42.52
9. ( )
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No. 35 &F 200m HEHEE TiE
EPN::£53
7% & B B Al
0. & b3 (F#xEE ) =l EiE
1. A A (NSIvF74 ) B3 6 2:20.17
2. {&M o (HURKR—Y ) &3 9 2:23.27
3. ¥ Bt (IHFEEE ) B2 8  2:20.49
4. AR #B (E#Eks ) B2 1 2:18.35
5. % &N (E&X%E ) &1 5 2:20.08
6. HE F= (PATLEE ) 2 4 2:19.41
1. #EYEF (B ) =2 3 2:19.40
8. LA IR (EEHNKTES ) =3 2 2:19.24
9. dtiB8 Ef (ar=KR ) &3 7 2:20.46
8 #H &8 B
0. aH (A F=wVmEB ) ®H2 6 2:11.37
1. h¥ Eit (fBEUK=ES ) =3 5 2:16.96
2. hFt P (EENAEE ) =2 4 2:15.78
3. AAKKRE (NSI##nL ) ®H3 3 2:13.70
4. #E EBE (R#EKE ) Z3 1 2:10.68
5. U Ex (FEmEER ) =2 2 2:12.09
6. &£ WA @anw vhuamy ) Hh2 EiE
1. A% F4& (FEsKfiEm ) =1 7 2:18.65
8. KB = (A b<wUmEB ) ®H3 8 2:19.84
9. BENIBARTY WAL R ) ®H2 9 2:20.40
9#f & B B Al
0. K =i (E#xX%E ) =3 9 2:22.27
1. Kir 45w (4 FIVEH ) B2 £iE
2. HBEHE (EEmEER ) =3 3 2:12.49
3. T (A b<UmE ) ®H3 4 2:12.66
4. AIE #HK €:-E=IIPN )y K1 1 2:07.81
5. Bl &R (REEK ) &1 2 2:12.04
6. EEHHO1H (E#Eks ) &3 5 2:13.31
1. BF #E (AERE ) X4 6 2:14.72
8. HEEATE (ACE y 3 7 2:17.77
9. MIX ZE (A F=UmEB ) ®H3 8  2:19.27
10# &8 B
0. i Fik (a+z/)UWE ) w2 9  2:21.49
1. 5rdt Bui (fBEWUK=ES ) &1 1 2:16.82
2. A W& (F&X%E ) &1 6 2:16.67
3. NGBV (REXZ )y K4 3 2:13.40
4. HAELIFY (REX ) K2 £
5 %  ¥m (KBRABEKXRZE ) X1 1 2:09.90
6. B BB (& KEE ) =2 2 2:10.38
1. EE HE (GImfEE® ) =3 4 2:14.12
8. fEJll FK (RENKAEE ) =2 5  2:15.94
9. A WH=x (FEmEER ) =3 8 2:20.19
No. 36 EF 200m BEHEF Fi&E
EPN::£53

148 &|E B Al
0. X% ZEH (EHF=S® ) =2 8 2:38.68
1. sth £ (csT ) 1 6 2:34.14
2. ARHARE B2tz y B2 1 2:28.16
3. BEF &b (a7 2 /\iE ) &1 7 2:34.93
4. NIl KE (NSI4E&nL ) 1 4 2:31.16
5. #hEH B (CcsT ) 2 3 2:29.61
6. kK& M (anFhs ) $2 2 2:28.38
7. 40 ED (E&X%H ) Bl 5 2:33.62
8. EFH ME (LM EER ) $3 10 2:53.24
9. /NIl EHlt GIEfEEhER ) $3 9 2:50.21
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No. 36 BF 200m BHE FiE

EPN::£53
7% & B B Al 1248 b= ] B
0. LA KR (HES S ) ®H3 10 2:17.86 0. A ®MX (CEREER ) =2 4 1:59.91
1. ®H% X&K (BmFSS ) &1 9 2:14.47 1. & KRt (HEKZE ) X3 5 2:00.17
2. HHE pEZE (EEEER ) =2 4 2:08.47 2. H# &t (B R= ) K1 3 1:57.70
3. BIE BA (HiES s ) 1 3  2:08.39 3. EAAX KM (DUS ) 6 2:00.50
4. A% AN (Ems - s ) ®3 2 2:07.52 4. FHE RN (GaLip N2 ) K4 1 1:54.03
5. ¥E%H M (AN Fh ) B2 5 2:09.40 5. &% B GRg K= ) K3 2 1:54.14
6. =8 =& (RS ) Bl 6 2:09.42 6. HFEA —IE (KGNST ) 10 2:03.50
7. @A &A (fBHILUEES ) &1 1 2:05.95 1. A WA (E#Hsn RS ) =3 8 2:01.13
8. FAMBAKER (BBEMKE ) X1 8 2:11.53 8. EATFEKER fBELEES ) 33 9 2:01.75
9. EM BA (a+F=/)\E ) B2 7 2:11.05 9. dthl B— GréfEE® ) &1 1 2:00.76
8 #f EIE e ] 1 3% b= ] iEdih|
0. @A #HA (REBKRZE ) K2 7 2:08.85 0. K/\KEEH (L= ) =2 9 2:00.49
1. EA K% (E#X#HE ) =3 2 2:05.54 1. it Fi (FEWBE® ) =3 71 1:59.63
2. Ry = (REEK ) &1 9 2:09.29 2. BIl AAHE (E#Hs RS ) =3 6 1:58.13
3. HFH ¥+ (FEHEESR ) 33 4 2:08.46 K== = R (BRFEKXK ) X4 3 1:55.50
4. #¥k EXR (BREhz ) ®H3 3  2:06.49 4. BIA K (A b=om# ) ®3 4 1:55.86
5. %  HHE (fRENURES ) &2 1 2:04.69 5. BX WE €:EJlIPN ) K3 1 1:55.13
6. FfE£ &KX (4 h<VEE ) &1 5 2:08.47 6. &1L P (GIffER® ) X3 5 1:56.50
1. WA B&H (REEK ) =1 8 2:09.13 7. IWEEKER (CEREER ) =2 2 1:55.44
8. HEFF WH (REEK ) &1 10 2:11.51 8. EH i (FEKZE ) X4 10 2:00.62
9. BHF st (FEm¥EER ) =3 6 2:08.63 9. BIF BA (E#H;nAEE ) =1 8 2:00.13
9#f & B B Al 1448 b= ] B
0. = H&E (FEmEER ) =2 9 2:08.87 0. FK BE A= mEE; ) 33 9 2:03.64
1. JIIiR 1808 (REBKRZE ) K2 10 2:08.93 1. W #BE (EH;XHE ) B3 6 1:58.17
2. %8 1&K& (REK ) 8 2:07.00 2. B¥ WX (KGNST ) 7 1:58.88
3. EF B (FEEEBE® ) =2 1  2:06.78 3. A A (AFXE ) X4 3 1:54.60
4. LA =N (RS ) =1 1 2:01.35 4. B4 K& (BfEEX ) K4 1 1:53.62
5. m# BE (FEX%E ) B33 4 2:04.35 5. EH B (FBREX ) K2 2 1:54.51
6. @l i (3F=/)\E ) XK1 5 2:04.96 6. XA ®|E (KGNST ) 4 1:56.97
1. 5% B4% (KIRAMIKE ) K2 6 2:05.22 1. AR W (A&F#KE ) X4 5 1:57.31
8. WA A% (UhZHmEKXK ) X2 2 2:02.26 8. AFH FEE (=) ) B3 8 1:59.10
9. INREEKER (HOS OGURA ) 3 3 2:04.31 9. ZH gl (=N AES ) B3 10 2:05.07
No. 37 ZF 200m EkZE i
EPNS::£57

10#f EIE e 148 =8 Bl
0. #s = (KFFEWL ) wH3 7 2:04.20 0. ( )

1. #B8E BtE (m#nAEE ) =1 5 2:03.53 1. ( )

2. FIE FEF (REBKRZE ) K3 8 2:06.48 2. ( )

3. Bl #HE (RS ) Bl 2 2:02.82 3. #K B (EBFHS® ) =3 2 3:24.72
4. [EH % (4 h<VEE ) 32 10 2:06.95 4. HIE Ex (HEK=E ) K4 1 3:18.84
5. WERY fEE (4 < EH ) B2 4 2:03.46 5. 35 A (EvbNAkE ) ®1 3 3:25.06
6. BHFFEZKEA (EHEESR ) =3 1 2:00.99 6. ( )

1. LB E%#% (E&HmEFES®R ) =1 3 2:02.93 7. ( )

8. & Bz ERKRE ) X1 9 2:06.61 8. ( )

9. NHEEXKED (EDFSS )y 2 6 2:03.71 9. ( )

11%#8 & B B Al 248 b= ] B
0. AN BT (BmF¥SS ) =3 6 2:03.17 0. FAEREE GréngEdhEEsk ) &2 9 3:06.57
1. T HCz= (BRaEtR ) =2 8 2:03.39 1.1Aa &% (REmEE®R ) =2 1 2:58.35
2. R Kih (fBHWm=Es ) &1 2 2:00.13 2. B B®E (F#ixxssE ) =1 6 2:53.73
3. BEX [5iH (BB 88 ) 9 2:06.42 3. fEH DB (A b=omE ) t3 3 2:41.34
4. #BHF BX (FEHEBEE ) =3 3 2:00.49 4. Bl XEB (GIépfER®E ) X3 1 2:36.38
5. ®¥F this (fBHILUEES ) =3 5 2:02.81 5. W =3 (L E®R ) =3 2 2:40.13
6. /NE AKX (a/R>=Fk ) ™H3 4 2:00.58 6. AKX &KE (E#H;NKES ) B2 4 2:45.87
1. MR E (fBHWIEES ) 33 1 1:51.37 1. T =R (fBELUEKES ) 31 5 2:48.38
8. AW ®X (E&HEFES®R ) =2 10 2:07.37 8. Bifg IR (Fo+> ) ®1 8 2:58.95
9. ETH (FEWEBE® ) =2 1  2:03.38 9. #RIE #07E (EH;MFIEKR ) X2 10 3:12.28




No. 37 Z&F 200m Fik=E T E
B AR
3#H &8 Rl
0. @8 DE (tyMVKE ) M6 7 2:57.88
1. NIRE /DB (H2oRKR—Y ) B3 6 2:51.69
2. BBR Mm% (aF /B ) B2 5 2:48.14
3. REH &R (REBKE ) ®H3 3 2:43.66
4. BR ¥E GE#EXKZE ) X2 1 2:36.01
5. BF OHTE (EEBXHE ) =l 2 2:38.29
6. #t EHE (RN KTET ) B2 4 2:47.43
1. T B¥F (ACE ) 8 2:59.89
8. BEMMIFY (4 b<wUEE ) i 9 3:01.78
9. @ B (E"-+EWND% ) 1 10 3:25.27
448 &g =TS
0. TF 3ZFm (LEnfERE ) ™3 5 2:50.83
1. B8 XF (IAfEER ) =1 7 2:53.30
2. —EREE (A b<mE ) H3 4 2:48.18
3. EF iR (IdrfERE ) K2 3 2:43.90
4 W #t (HOS OGURA ) =3 2 2:39.42
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